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Section : General Intelligence and Reasoning
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Question ID : 26433056810
Status : Answered
Chosen Option : 2
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Q2 = ww & 9 I S - Rufawr g A ¥ gEmr 2 &

Question ID : 26433081528
Status : Answered
Chosen Option : 1




Q.3 39 e &1 989 FINT, Wi TR s A S voR Fafta 2, O ToR goT e tga
TTeg | Wt B1 (Rreat Bt srfyuf & (SRieh) =gl & = F 7 S AR Ok A wreg
&R\ P TBIHHIGR] B =T & YR R TH-ga | Hafia g1 g I1eel)
Tﬁ?ﬁ:ﬂ?ﬁﬂ::%ﬂ:?

Ans X 1. GRIGH

X 2.998]

3. B

X 4. Towm

Question ID : 26433068353
Status : Answered
Chosen Option : 3

Q.4 wﬁﬁa%—gwﬁ 'BOSS' @1 '21967' & U | o et 8 SR 'DEAL %t
'19192414' & =Y ¥ Heds a1 oraT 81 IW U9 H 'GAIN' T fhd UoR Feds fFar

SITEIT?
Ans X 1.16241612
o 2.16231612
X 3.16231512

< 4.16231611

Question ID : 26433067344

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 TP 3rgeH foa T B, Fored & U uq g 1 g e fywedt # & 78 wet fwew gfvg,
ST B R BRI
QML, PRC, OWT, NBK, ?

Ans 7 1. MGB
< 2.GMR
X 3.MBG
< 4.GQR

Question ID : 264330104805
Status : Answered
Chosen Option : 1

Q.6 fEfIfEd IR sreR-TaeH! # F 69 ol A adie & T § iR 39 YR Ue 98
T &1 B T JER-TAS 39 UHE & wahta T8 872

Ans X 1.DSZA
2. ATRE
X 3. YNUF
X 4.CRYB

Question ID : 26433081497
Status : Answered
Chosen Option : 2




Q7 fFafafad & @ #9-ar seR-aqg § 18 S@ar A uy-fig (7) S ufawnfia same
HFK, KHM, 2, QLQ, TNS

Ans X 1. MKP
7< 2. MUN
« 3.NJO
7< 4. OKN

Question ID : 26433057989
Status : Answered
Chosen Option : 3

Q.8 frgferfad & & o9 & e §f 7 3o # uylRE (7) F ®”E R smwft?

97, 131, 165, 199, 233, ?
Ans 7 1.267

X 2. 260
X 3.273
X 4.251

Question ID : 26433067866
Status : Answered
Chosen Option : 1

Q.9 3 Mg Yot &1 WFYd® Sreaa ¥ IR I WA T T4 B, W ITH UAg (7) B
wfereaTfia o2 w1
Tl ufeR - 15, 11, 43

(FHle: mﬁﬁmwmﬁﬁmﬁamﬁm ot Temait wR ity wisang #5t
ST A1fee | IeTeeur & Rg 13 - MY wWikaTg SR 6 SisATaeIATON ST ST 13
# fpar ST gwar 21 13 B 1 3R 3 H fauTra w3 iR e 1 3R 3 W nfdrdta dfspard
FX B Al TE 71)
Ans X 1.27
X 2.28
% 3.30

& 4.23

Question ID : 26433069204

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Question ID : 26433085387
Status : Answered
Chosen Option : 1

Q.1 f3E 7T G R} $I U § WER dgem W FafRad # & o1 a1 gHie<o a8 gmme?

x YT +
Ans X 1.24-8-5x5+3=14

X 2.5%x10-15+20+25=8
o 3.24x8+6+3-18=22
X 4.7x8+9+18-11=16

Question ID : 264330105121
Status : Answered
Chosen Option : 3
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Question ID : 26433057787
Status : Answered
Chosen Option : 4

Q.13 39 fised o1 797 B Sl uiwdl wen & I JER Hafia § o ver gadt wen wwd

T @ Hafia @ ok 9 e s wen @ el @1
6:125::2:1::5:?
Ans X 1.81
 2.64
/5 3.68

X 4.72

Question ID : 26433067650
Status : Answered
Chosen Option : 2




Q.14

9 90T & e B F @R 'PQ W @ AT &, & R saee F s e
Irer WET guuT wiafE F Tma w1

p

FURN/TURE
o]
An
" < JAUTINAUA
<> JAUTINANA
<= A3UTINAUA
v+ JAUTNNAUA
Question ID : 26433067827
Status : Answered
Chosen Option : 4
Q.15 AU 7Y Treql BT SIS GBI F AR HIRIT HIA P UYT, B AT eg AR R
TR S{T?
1. Theory
2. Theorem
3. Theology
4. Theologue
5. Theogonic
Ans 7 1. Theology

< 2. Theologue
/< 3. Theorem
< 4. Theogonic

Question ID : 264330104895
Status : Answered
Chosen Option : 1

Q16 FRIK+ LB AT P K, LB AT, K-L AT I 8P K, LB AT e, Kx LB 3f 2 fp

Ans

K, Lt 984 8, ) Fafafa & @ 19 w1 sive a8 fFefia swar 8, f5 p, R @t qrdt 82
& 1.P+Q-R
X 2R-Q+P
X 3.P+QxR
X 4Q+P-R

Question ID : 264330104967
Status : Answered
Chosen Option : 1




Q17 dor = foreer B & 3@R MN' R @ &, R oo @ee & saa o wa
ZUUT SR @ AT S

GBvX2U
M N

v @BAXIN
@BAXCN
~CEAX CN

~+USXvE8D

Question ID : 26433080795
Status : Answered
Chosen Option : 2

Q.18 T® Ay e YT #, 'PLAYGROUND' F1 "'OKZXFQNTMC' fraT SITeT & 3R 'SCIENCE
%Y 'RBHDMBD* ferar Sirar 8, St YT # '"TYPEWRITER' &1 $9 foram siem»?

Ans X 1. SXODVPGRCP
< 2. RYNCUPGRCP
2< 3. RVNCUQHSDQ
« 4. SXODVQHSDQ

Question ID : 26433067771
Status : Answered
Chosen Option : 4

Q.19 e A A 39 BT I BIFOTE Forad & 7€ Temei & §= 981 Tay , S Sy
= feu e Kikie  Ek ek
(FiYe: 3Tueh WS W wIs Y Withar 3% "ew il H fawnfor farg fae, qof wemait
WA FFTZI)
(5,41, 4)
(2, 68, 8)

Ans X 1.(5, 18, 4)
X 2. (4,49, 3)
< 3.(5,100, 4)
4. (6,100, 8)

Question ID : 26433069242
Status : Answered
Chosen Option : 4

Q20 A#BHT AT R'A, BB TEARI
A@BHTASE'A BHTIATE
A&BHTAYE'A BF el
A%B®HIATR'A BHIATEI
IAEWEQHTE&Y @M %K 8, dl W, K & fra 7R daftra 872

Ans  p 1. qal
X< 2.
< 3. fuar
X 4.

Question ID : 26433068152
Status : Answered
Chosen Option : 1




Q.21 33 A HYY SR el &t wryd® 9| 98 9 gU fb Sy A & it S wdt B,
Yl Y 98 IR U 9 §1d a2 9 U udia g g1, fHofa 3 7% few e freeuf § @
FI-T1R frepd HYA(EY) BT dIfb® UV TR0 FIarHId a8 |
DY
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FIs T9d gUUT LI B
It wof dea €1

forea:

. TO BI & WUl g Bt AHTGT 3|
I1. B wof gdor T 21

1. [t e waf &

IV. B Pic gUur T B

Ans 1. Hqq Y | IR 11 STERT HRA §
X 2. Faq fIsp 11 3R 111 3TER R &
X 3. $ad fIsh | 3T BraT §
X 4. Faq B |, 11 3R IV 3F¥RUI HRa &

Question ID : 26433070346
Status : Answered
Chosen Option : 3

Q.22 & 7 3t Il ayr 3t gl & U F TRER dgaq & Ut HHRT: JHBT (1) TUT (1)
& 9= T g
x qYUT+, 7AYUT9
.8x3+6+9-7
.9-7x1+6+3

Ans X 1.6,9
& 2.14,16

X 3.08
< 4.10, 11

Question ID : 264330105154
Status : Answered
Chosen Option : 2

Q.23 fafafaa witero # W a9F (@giea $39) & g fau e fawent o | fob o wemsi
P 3T & Tqa-T gRI?
248 +4+184+ (4%x6-2x8)=77

Ans X 1.43R6
X 2.83R4
o 3. 184 3R 248
X 4.184 3R 77

Question ID : 26433067699
Status : Answered
Chosen Option : 3




Q.24 12 fou 7T vy A $© FYF SR ITF 91 39 YA W MuTRa $© e fou 7w ¥ faw
T YT B e A, YA & ITH JrA=IE: FId Tt A firsar g1 9 e ue ofik R
fruifea #3¥ & F19 § e, T ¢ FY4=1 &1 aifde T0 F gERu Hd 81
DY
Lot p, wEl
I $1E 0, WTE 81
forsp:

1. %3 O, P TGl &l
. g w, 02l
Ans X 1.1 Il ST e SRR aRd §
7 2. Bad B || SR BT §
3. ad ey | SER0 HRar g

X 4. P i e SrgERur T8 Rar §

Question ID : 264330104922
Status : Answered
Chosen Option : 4

Q.25 i3 fau v uy ®, IR @ g 3w e ¥ 1 ule g § (<) & 9l 3R € g W (<) &
rfY 3R &Y 1S Wiem | Pt adb/fFraniEy @ et 31 619 3 33 v adb/famRidey
F YR IR T9H 71 T T el # & faww o1 gfe (e <: @ensi ot 39 dued
3t § fyvfora faru fam, gof Semsit w wfirart fAunfea €1 st anfe ) SereRor 13- -
13 TR HiHATE 519 5 13 § SISAAEHIATON 3T 1S frar ST wepar 31 13 B 1 3R 3
e 3R fiR 1 3R 3 R MIfdrdi wipard #3A Ft srgafa T8 @)

Ans X 1.16-257
 2.14-193
% 3.10 -101
X 4.12-145

Question ID : 264330105054
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 fFg URdg TiaeR 7 iRe # 2014 & 99 Wifd RPR RIS § =Mifa & forg |
(Raga For Peace)'ﬁuﬁﬁm?ﬂ?

Ans X 1. ggad G Il
2 2. Irafep st
o 3. 3G 37l |@H

X 4. SEIR @

Question ID : 26433072881
Status : Answered

Chosen Option : 3

Q.2 Fofifld § | S9-u1 e o1 ve ulig @ JTa 82
Ans X 1. FHIasferm

X 2. favet
3. e
K4 TR

Question ID : 26433064377
Status : Answered
Chosen Option : 3




Q3 YR Ga TgE $t WA 5 af g5 A2
Ans X 1.1950

< 2.1948
< 3.1951
 4.1949

Question ID : 26433064716
Status : Answered
Chosen Option : 1

Q.4 fagfafaa # @ P2 & fee @ # s FINGRMEY & e adf 2002 # gy fbeq
REPR | wwT far mar ur?

Ans X 1 fREaAR
X 2. 36 @M
X 3. WS R
o 4.9 TH

Question ID : 26433074834
Status : Not Answered
Chosen Option : --

Q5 YRT WHR 7 o o U ufvaR e sriwH 3= fFan
Ans X 1.1960

o 2.1982
< 3.1972
< 4.1991

Question ID : 264330105496
Status : Answered
Chosen Option : 4

Q.6 fuferEa # T 59 fay & Ia9 o WiH & U § W1 S1ar 82
Ans 1 AIRFRE

X 2.4

X 3. R

2 4. TS

Question ID : 26433066644
Status : Answered
Chosen Option : 1

Q.7 3T 2022 B I&T ATHUT TS FIwTRy W16+ & siegel & w0 # ford forga favam man @2
Ans X 1. ARy

% 2. 3w A

3. TR & wma

X 4,359 S84

Question ID : 264330105325
Status : Answered
Chosen Option : 3




Q.8 fafifea 7 @ few fasie o1 qa o1g ok Rgy A fear ur?
Ans X113;=',1ﬁ§ﬁ—5{

2. U a5

< 3. i fage

X 4. st fasie

Question ID : 26433089144
Status : Not Answered
Chosen Option : --

Q.9 fafifed & & $19-3 M g8 A arararr & Faifires wgR o & 32
Ans X 1. A15cY aSS

2. 5 T

% 3. P RS

X 4.0

Question ID : 26433064457
Status : Answered
Chosen Option : 2

Q.10 RydaR 2022 ¥, fHH fAum U1 A 79 & e &Ff ° Tsw! iR Adwi=e Rl 1)
START U3H FT SAETE W AP T F I=T | UIRd fadaes &t uikd 81 & 5
HEHY 916 999 & ferar?

Ans 1. 3H
X 2. 3ffr e
X 3. IWUY
o 4. TSRId

Question ID : 264330105221
Status : Not Answered
Chosen Option : --

Q.11 fig Fas & IFUR, WRA F glaft Isal & I @R Fafafea § & o ad= &

AT ST 872

Ans X 1. T
& 2.97

7 3. 33T

< 4. 4oy

Question ID : 26433070821
Status : Answered
Chosen Option : 1

Q.12 Which theory discusses the relationship between ligand bonding and degradation of d
orbitals in metal complexes and the geometry of metal complexes and the splitting of
d orbitals?

Ans X 1. Valence bond theory (VBT)
«” 2. Crystal field theory (CFT)
< 3. Molecular orbital theory (MOT)
/< 4. Ligand field theory (LFT)

Question ID : 26433064077
Status : Answered
Chosen Option : 4




Q.13 Frafifad # & a9 uRis 9ed WS ST U412

Ans

X 1. 9rged

2. QAR g
X 3. QRIS UYH
X 4. faue fgdia

Question ID : 264330105413
Status : Not Answered
Chosen Option : --

Q.14 3refiadf WM # g & q1g 1756 W ST BT 7919 B 7 Y12

Ans

X 1. 7ife el @M
X 2. A Faw
3. "R 3¢ e
X 4 fFmEE

Question ID : 264330105556
Status : Not Answered
Chosen Option : --

Q.15 An undifferentiated layer,

Ans

, is present in between the ectoderm and the

endoderm.
/< 1. Ectinoglea

< 2. Acoelomea
«” 3. Mesoglea
/< 4. Coeliea

Question ID : 26433089688
Status : Not Answered
Chosen Option : --

Q.16 YRd A fPa- IR T$ARR 72w firde Ry Fu (T o) 3t Avar #1 82

Ans

X 1.4
& 2.3
X 3.2
X 4.1

Question ID : 26433071377
Status : Not Answered
Chosen Option : --

Q.17 Uf3H Sd IRBR A "UTST RIGTAY (Paray Shikshalaya)' BTIHH = {41 81 59 Ugd

Ans

Lakcitot @1 911 S |
X 1. R @A H ipars [Garu

< 2. 109 el & BE & fad 3= e
o 3. 3T TR aaEq

X 4. SfereT & forg anfifes Terdr

Question ID : 264330105261
Status : Answered
Chosen Option : 3




Q.18 ITSiTd 2022 FT UgET AT FgT VT TT YT?
Ans » 1.HEIEFﬁ

X 2. DA g

X 3. TS|

X 4 dTgEH

Question ID : 26433071552
Status : Not Answered
Chosen Option : --

Q.19 VY ®IH wgi i fieRa g1 8, FEA Tl

Ans 1. 34T
X 2. feF

X 3. |
& 4. 914 - A

Question ID : 264330105589
Status : Answered
Chosen Option : 4

Q.20 fER®! WAl & TP Sarevl ot Ugar o1 |
Ans X 1. @WiRfAGRIT

X 2. ®lear

3. Hidee

X 4. Qe

Question ID : 26433087856
Status : Not Answered
Chosen Option : --

Q.21 Which of the following is a feature of public goods?
Ans X 1. Only tax payers can get the benefit of public goods.

«” 2. Consumption of one person does not affect the consumption of another person.
/% 3. These goods are more competitive.

/< 4. These goods are limited in supply.

Question ID : 26433066628
Status : Answered
Chosen Option : 4

Q.22 In India initially HYVP was implemented in about how much area?
Ans X 1.4 million hectares

< 2. 5 million hectares
«” 3. 2 million hectares

< 4. 3 million hectares

Question ID : 26433065453
Status : Not Answered
Chosen Option : --




Q.23 IR U & g A @ 1500 T gd e M e R afey @1 aen
Tl

Ans X 1. figi@ise
X 2.t siR suR
X 3. T
o 4. THIgE g

Question ID : 264330105203
Status : Answered
Chosen Option : 4

Q.24 FHfATET & | S A1 3JE 300A F T8 U@ ISR 872
Ans X 1. fRian &1 SfUHR

2 2. Sl &1 SHUHR
3. 9uRi &1 3fBR
X 4. AT BT SRBR

Question ID : 26433064831
Status : Answered
Chosen Option : 3

Q.25 PEfafad § & 1 sfesitd 9 $ SR giRd 8T 872
Ans 1. 3R

< 2. Sarargt

X 3. e

X 4.3

Question ID : 264330105644
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 3fg AABC ~ ADEF & 3R BC = 4 cm, EF = 5 cm 3R YW ABC &1 &7%d 80 cm?2 §, &t
Byl DEF &1 &wd Bl

X 1169 cm?
v 2 125 cm?

Ans

X3 80 cm?
X4 144 om?

Question ID : 26433075901
Status : Answered
Chosen Option : 2

Q2 3EWIE 5: 7 F 3gurd § 71 A e Hen § 6 WS far ST, @t SrguTd 3 : 4 7 SaT 31
Lreay gl
Ans X 1.55,88

o 2.30,42
< 3.10,16
< 4.25,40

Question ID : 26433063873
Status : Answered
Chosen Option : 2




Q.3 Q) wies 99 U & g @ TR St § SR FHSIT ST &) HSP) U HH: 48 km/h
3R 36 km/h B ITA | TA 21 15 VHS dIG T & aid I gt fra=it ghft?

Ans X 1.150m
X 2. 350m
 3.250m
X 4.175m

Question ID : 26433091939
Status : Answered
Chosen Option : 3

Q.4 =T FEas T d e o B % Y gee srew & Sher s #) 3R ow v Bt 643 om §, & fomh
TS ST S A i

A @1 504 em?

X2 512 cm?

X3 516 cm?

X4 500 cm?

Question ID : 26433065027
Status - T Reviow
Chosen Option : --

Q.5

1+ sinA
1 —sinA
Ans X 1.secA
o 2.secA +tanA
< 3. secA - tanA
75 4. coescA - cotA

Question ID : 26433066398
Status : Answered
Chosen Option : 3

Q.6 290 F 3ifpd Yeu aTel TP I} 268 H = WIIet 1 Fe B ufawrd & F1 ¢ (&) gUHea
R 9P TEh?

ANS 1. 24.44%
X2 2537%
X 3. 23.22%

x4 22.00%

Question ID : 26433075548
Status : Answered
Chosen Option : 1




T gfE 8ot @ = 6, TR0 T pr ST BT

sin8—cosB
Ans 1.7

K22

X 3.5

X 4.12

Question ID : 26433062673
Status : Answered
Chosen Option : 1

Q8 A% 9 ol F BT 83P93678Q, 72 W AR, T /P2 + @7 + 12 PIAH T &2
Ans X 1.9
xX27
X356
& 48

Question ID : 26433075461
Status : Answered
Chosen Option : 4

Q9 AABC #, AB = BC, 3R P, Q 3iR R SWT: YuTI3ii AB, BC 3R AC F A fig §1afg PR=5
cmﬁ,?ﬁQR?ﬂ?ﬁlﬁﬂﬁml

Ans 7 1.5cm
K 2.7cm

/< 3.4cm
K 4.2cem

Question ID : 26433074479
Status : Answered
Chosen Option : 1

Q.10 UEd a9 & IR, TP B P TGS & 12% B 9IS §51 31 v, forlt Heprves AT &
BRI, 3H 8% BT HH 35 | gOR a9 F 3 F, THHET 64,400 ft | Uz af Ft yeama &

HW B FEE feat de

Ans 7 1.62,500

7< 2.50,000

< 3.54,750

7< 4.50,500

Question ID : 26433074333
Status : Answered
Chosen Option : 1

Q1 gf& A ABC ~ AQRP, 244D _ °  Ap—18cm BC=15cm, GIPRPITIE___ &l

ar(AQRP) 4
Ans 7 1.10cm

K 2.14cm

/< 3.12¢cm

X 4.16 cm

Question ID : 26433075282
Status : Answered
Chosen Option : 3




Q.12 TH TH A 39a A, B 3R C &1 T P DI HHT: 10 Ue, 20 °e 3R 25 4¢ # WX IPd &1 T4
UEd Il 79 U 914 @ 1d &1 2 9 F 916, 7 C 3¢ 81 91T € 3% A 3R B 9ad W8d
I URY & 4 9 91¢ T B 1 §¢ 81 ST 21 AW <ol DI 3rbal T A W WRT ST 81 e A
WY F gR1 fpY Y STt 1 ufwra s S|

Ans X 1.52%
X 2.75%
< 3.32%
& 4.72%

Question ID : 26433076049
Status : Answered
Chosen Option : 4

Q.13 YHIE U 5% W 16 km/h P IT61 F 96 fHaiier, R A 31 km/h B I T 124
frarfieR ok DT M & 7 km/h P T A 105 FFafier @I M HA E R gd &
e SUSY sita =T 79 BIRW|

Ans 7 1.13km/h
% 2.17 km/h
< 3.16 km/h
< 4.1 km/h

Question ID : 26433065265

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.14 4 A7, Brear ara i gt B o & woxf Hed g @ T 81 39§ g6l @ 9R) 3R '
YT HHDH ST AT | YT Y TS 1 82

Ans X 1.24 +18p WA,
% 2.32+ 16p L.
7 3.24p + 16 9 AL
 4.24 +8pu Tt

Question ID : 264330105864

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.15 ue fAf3a iRy AremRor e uR 2 auf 7 3,640 30T 8 auf # 4,060 B Wl § 1 ATfie
ST R ufasra grd S

Ans x 1. 4%
X2 3%
v3 2%

x4 1%

Question ID : 26433082614
Status : Answered
Chosen Option : 3




Q.16 Tfg x2 - 2xy = 84 R x -y = -10 , T y T A FT 82
Ans X 1.2

X 2.3

X 3.1

& 44

Question ID : 26433075845
Status : Answered
Chosen Option : 1

afg x+ L=3 & & 8+ S W AW W Hifer

Ans X 1.216
X 2.196
 3.180
X 4.212

Question ID : 26433076426

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.18 A9 &I Rs.350 A 100 P T T WIET AT iR Rs.48 Ufd oo & e & = wm any ar
g1+ ufererd s 82

A X 1820 BT
&2 14§%ﬂm

X3 129% CIH

X4 10% B

Question ID : 26433065271
Status : Answered
Chosen Option : 1

Q.19 R a1 a6 1 Fegad 1 3R Feafaf@E g &1 s &

o HeT-3EET a6t F e few wedt & st
gaeast fr gEm (S @)

mA sBuC

2017 2018 2019 2020 2021

& 2017 & A TeT F w7t fve oTe e & W, 9§ 2019 F B TS # st B e Sawn &
HE & e wfenE off? (2 SIFeE T aF )

Ans 7 1.4545%
< 2.36.25%
< 3.42.50%
< 4.56.23%

Question ID : 26433081482
Status : Answered
Chosen Option : 1




Q-20 1 A 4 4
AR © eyt sz WO B A 105 +55°+ 7= o1 rer 0 P
x Y +6y =z +3zx

Ans X 1.0

X2

X 3.2

& 4.1

Question ID : 26433063831
Status : Not Answered
Chosen Option : --

Q.21

I HelFT-3e9T Fuferar A, B, C, D #R E, {=ifew Reilet oot €1 397 wiw Fufaah ganr
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Ans 5 1. Z85 crores

X 2. 396 crores

« 3. 2140 crores

X 4. 2190 crores

Question ID : 26433095014
Status : Answered
Chosen Option : 3
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Ans 5
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o3 12
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Question ID : 26433066400
Status : Answered
Chosen Option : 3

Q.23 i3 & € arfere 5 faftm = A St caferat 5t wars +) gt 81

e E | 4
AT | 105 | 150
HeTerarT | 96 | 110

gUER | 65 | 122
qEER | 115 | 106
J[FIN | 130 | 68

P P $oT BHTE BT, Q Bt HA HATS A ST T 872
Ans X 1.331: 441

o« 2.511:556
/< 3.531:331
X 4.556:511

Question ID : 264330105754
Status : Answered
Chosen Option : 2

Q.24 G} @13} BT AHY (LCM) 4104 3R #HT (HCF) 9 B 1 Tfe Temai # § e 4@ 171 8, @
) TE wre S|
Ans X 1.215

X 2.218
2 3.220
& 4.216

Question ID : 26433075111
Status : Answered
Chosen Option : 4
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Ans X1 22%

&2 20%

x 3 30%

X4 23.14%

Question ID : 26433082520
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the correct active form of the given sentence.
This game will not be played by you.

Ans X 1. You could not play this game.
< 2. You had not play this game.
«” 3. You will not play this game.
25 4. You will not be playing this game.

Question ID : 264330104576
Status : Answered
Chosen Option : 4

Q.2 Select the option that is similar in meaning to the underlined word.

No plausible explanation could be found for her disappearance.
Ans X 1. Legal
25 2. Just
/< 3. Useless
«” 4. Credible

Question ID : 26433060589
Status : Answered
Chosen Option : 3




Q.3 Select the option that contains a grammatical error in the underlined portion.
There are no tables at the classroom.

Ans « 1. There are no tables at the classroom.

#% 2. There are no tables at the classroom.

/% 3. There are no tables at the classroom.

/% 4. There are no tables at the classroom.

Question ID : 26433088585
Status : Answered
Chosen Option : 1

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

The act of killing one’s mother
Ans 7 1. Matricide

< 2. Homicide
< 3. Uxoricide
/< 4. Regicide

Question ID : 26433071766
Status : Answered
Chosen Option : 1

Q.5 Select the word that is OPPOSITE in meaning to the given word.
Cease
Ans X 1. Halt
«” 2. Begin
/5 3. Produce
< 4. Origin

Question ID : 26433060593
Status : Answered
Chosen Option : 2

Q.6 Select the correct passive form of the given sentence.
The department conferred a scholarship to Kailash.

Ans X 1. A scholarship is being conferred to Kailash by the department.
«” 2. A scholarship was conferred to Kailash by the department.
/% 3. A scholarship has been conferred in Kailash by the department.

< 4. A scholarship had been conferred to Kailash by the department.

Question ID : 264330104571
Status : Answered
Chosen Option : 2




Q.7 Select the idiom from the given options that gives the most appropriate meaning of the
highlighted text in the following sentence.

The announcement of the new tourism policy of the government has made some
people excited or interested.

Ans X 1. Pull out all the stops
«” 2. Quicken the pulse
#< 3. Run around in circles

/5 4. Reach for the moon

Question ID : 26433070443
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate meaning of the given idiom.
In hot waters
Ans X 1. To dip in hot water
/< 2. To be in a hot climate
«” 3. To be in trouble
/< 4. To feel relaxed

Question ID : 26433072218
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Mother ordered John to switch on the light as it was time to sleep.

Ans ¢ 1. to switch off the light

< 2. to switch of the light
/5 3. to switch out the light
25 4. to switch in the light

Question ID : 26433084639
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate collocation to substitute the underlined word in the given
sentence.

The intern should take a right choice in choosing the right job for her.

Ans X 1. rake a right choice
/5 2. fix a right choice
/< 3. take the right choice

«” 4. make a right choice

Question ID : 26433074007
Status : Answered
Chosen Option : 4




Q.11 Select the most appropriate synonym of the given word.
Wrathful

Ans X 1. Amiable

/5 2. Cordial

/< 3. Pleased

«” 4. Furious

Question ID : 26433071875
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option to substitute the underlined segment in the given

sentence.
Biden write a letter to the Russian President to restrain from war.

Ans 7 1. wrote a letter
/5 2. writing a surprise letter
< 3. write a good letter

25 4. writes a letter

Question ID : 26433085583
Status : Answered
Chosen Option : 1

Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

An excessively intense desire for returning to past or lost conditions
Ans 7 1. Nostalgia
< 2. Paranoia
/5 3. Glitterati
X 4. Affection

Question ID : 26433073456
Status : Answered
Chosen Option : 1

Q.14 Rearrange the parts of the sentence in correct order.
We are encouraged
P. help accelerate their return to
Q. by how women are embracing online
R. work and promote economic mobility
S. learning to develop new skills that can

Ans X 1.PRQS
X 2. PSQR
« 3.QSPR
< 4. SPRQ

Question ID : 264330104651
Status : Answered
Chosen Option : 3




Q.15 Select the correct indirect form of the given sentence.
Madhurima explained, “l am planning to quit my graduation.”

Ans X 1. Madhurima explained that she were planning to quit her graduation.
< 2. Madhurima explained that she planned to quit her graduation.
«” 3. Madhurima explained that she was planning to quit her graduation.

/< 4. Madhurima explained that she had been planning to quit her graduation.

Question ID : 264330104620
Status : Answered
Chosen Option : 3

Q.16 Select the sentence with the appropriate use of preposition.
Ans X 1. We have been playing from 4 o’clock.

«” 2. We have been playing since 4 o’clock.
/< 3. We have been playing to 4 o’clock.
/< 4. We have been playing for 4 o’clock.

Question ID : 26433073895
Status : Answered
Chosen Option : 2

Q.17 Select the INCORRECTLY spelt word.
Ans X 1. Handful

/5 2. Conduct
/< 3. Biopic
«” 4. Dimolish

Question ID : 26433063138
Status : Answered
Chosen Option : 4

Q.18 Select the INCORRECTLY spelt word in the following sentence.
Ratan is such an efficient sergeant that he doesn’t need to imbibe any artillery

craftmanship.
Ans X 1.sergeant

/< 2. artillery
/< 3. efficient
«” 4. craftmanship

Question ID : 26433066421
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate option to fill in the blank.

I looked at her face and found she was getting disturbed. | decided to drop that

Ans X 1.chance
/< 2. pride
< 3. product
«” 4. subject

Question ID : 26433089029
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate ANTONYM of the underlined word.

The Government ruthlessly decided to force its citizens to pay taxes even during
famine.

Ans X 1. Tyrannically
5 2. Indifferently
< 3. Unscrupulously
«” 4. Leniently

Question ID : 26433070526
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A robot is a mechanical or virtual artificial agent, usually an electromechanical machine that is

(1) by a computer programme or electronic circuitry. In general, robots can be
autonomous or semi-autonomous and are now used in different fields. They have replaced
(2) in performing repetitive and dangerous tasks which humans prefer not to do, or

are unable to do because of size limitations, or which take place in extreme (3)
such as outer space or the bottom of the sea. For instance, robots can now be used in
industry, as in car manufacturing, or they can be used in homes to do the (4) . Some
robots may respond to speech or even be medical operating tools. There are concerns about
the increasing use of robots and their role in society. Robots are blamed for the rising
(5) as they replace workers in increasing numbers of functions.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 7 1. guided
/5 2. chased
/< 3. challenged
/5 4. included

Question ID : 26433086398
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A robot is a mechanical or virtual artificial agent, usually an electromechanical machine that is

(1) by a computer programme or electronic circuitry. In general, robots can be
autonomous or semi-autonomous and are now used in different fields. They have replaced
(2) in performing repetitive and dangerous tasks which humans prefer not to do, or

are unable to do because of size limitations, or which take place in extreme (3)
such as outer space or the bottom of the sea. For instance, robots can now be used in
industry, as in car manufacturing, or they can be used in homes to do the (4) . Some
robots may respond to speech or even be medical operating tools. There are concerns about
the increasing use of robots and their role in society. Robots are blamed for the rising
(5) as they replace workers in increasing numbers of functions.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans X 1.toys
/5 2. machines

/5 3. agents
«” 4. humans

Question ID : 26433086399
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A robot is a mechanical or virtual artificial agent, usually an electromechanical machine that is

(1) by a computer programme or electronic circuitry. In general, robots can be
autonomous or semi-autonomous and are now used in different fields. They have replaced
(2) in performing repetitive and dangerous tasks which humans prefer not to do, or

are unable to do because of size limitations, or which take place in extreme (3)
such as outer space or the bottom of the sea. For instance, robots can now be used in
industry, as in car manufacturing, or they can be used in homes to do the (4) . Some
robots may respond to speech or even be medical operating tools. There are concerns about
the increasing use of robots and their role in society. Robots are blamed for the rising
(5) as they replace workers in increasing numbers of functions.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans ¢ 1. environments
/5 2. pattern
/X 3. beauty

< 4. enjoyment

Question ID : 26433086400
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A robot is a mechanical or virtual artificial agent, usually an electromechanical machine that is

(1) by a computer programme or electronic circuitry. In general, robots can be
autonomous or semi-autonomous and are now used in different fields. They have replaced
(2) in performing repetitive and dangerous tasks which humans prefer not to do, or

are unable to do because of size limitations, or which take place in extreme (3)
such as outer space or the bottom of the sea. For instance, robots can now be used in
industry, as in car manufacturing, or they can be used in homes to do the (4) . Some
robots may respond to speech or even be medical operating tools. There are concerns about
the increasing use of robots and their role in society. Robots are blamed for the rising
(5) as they replace workers in increasing numbers of functions.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1. handwork
«” 2. housework
/5 3. network

X 4. software

Question ID : 26433086401
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A robot is a mechanical or virtual artificial agent, usually an electromechanical machine that is

(1) by a computer programme or electronic circuitry. In general, robots can be
autonomous or semi-autonomous and are now used in different fields. They have replaced
(2) in performing repetitive and dangerous tasks which humans prefer not to do, or

are unable to do because of size limitations, or which take place in extreme (3)

such as outer space or the bottom of the sea. For instance, robots can now be used in
industry, as in car manufacturing, or they can be used in homes to do the (4) . Some
robots may respond to speech or even be medical operating tools. There are concerns about
the increasing use of robots and their role in society. Robots are blamed for the rising

(5) as they replace workers in increasing numbers of functions.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

5 1. peace
X 2. social issues
/5 3. corruption

o 4. unemployment

Question ID
Status
Chosen Option

126433086402
: Answered
14




